Carriage Assembly
Maxi-Lock

Casters not included with
Carriage Assembly

i

Loer

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 A 1114317-NLA | NLA - Carriage Maxi-Lock Assembly 1 1
2 025187 Support, Lift Crank 1 4
3 000037 NLA - Nut, Keps (5/16-18) 1 4
4 000037 NLA - Nut, Keps (5/16-18) 1 4
5 001758 Screw, Hex Head (5/16-18 x 1") 1 8
6 1012756 Plug Button, Black (1-1/4") 1 2
7 020717 Glide, Cap 1 2
8 026586-NLA | NLA - Frame, Carriage Maxi-Lock 1 1
9 025184 Lift Bar 1 1
10 026588-NLA | NLA - Crank, Lift - Foot End 1 1
11 001004 Bolt, Square Head Shoulder (5/16-18 x 7/8") 1 2
12 53000M434 Locknut (5/16-18) 1 2
13 026725 Washer, Flat (3/8") 1 4
14 51000M743 Pin, Hitch (3/8 x 1-3/16") 1 4
15 026976 Pin, Clevis (3/8 x 1-3/4") 1 4
16 026589-NLA | NLA - Crank, Lift - Head End 1 1
17 1131077 Foot, Rubber 1 1
18 51000M083 Socket, Caster 1 4
19 1123551 Caster Assembly, Swivel w/ Brake (3") 1 2
20 1123549 Caster Assembly, Swivel w/o Brake (3") 1 2

NOTE: A -Includes: ltems 2-17.




